Name AP Calc Practice Set 2
Limits and Continuity
1. ... sindz  sin(3(e)) _ 0 In 6. VT >
1 = derecminant
iy Gnse ~ sGEY- O T — = (- ><>CF D)
A) 0 SFackor cancel (s‘mv\‘c\() A) 3 )
@ 3 Slvospiral's (&au*eo—}vgge*fg&“\fﬁ’ 1 _ ~(9zx)
&) —
; sty sy O 6 NEI=N
g x A in30) = cos(3N. 3 ©) G o= =)
E) nonexistent s = 005 () D) 3 RS- A3 +2
cos(0):3 ._.,_3_ E)6 =
cos(S 12 T 34+3
-,
2. L% @'ﬂ@’”&) G/x) e
— ~limo—px 3 \f WX) ™ TR % ( S 7. (z+h)5— Dekinition 68
> - ;lfi% Q. A ofive
A) 0 '?(‘adicc\\ B) 3 34N x —_—
O Wb o 33 D) B) ' | £z lim 253 FD
2+3:-p C) 0 D) ? |
E) nonexistent )
E) nonexistent
3. . sinx g\xs\nm Cos() _ 005(05: AR
— T T dC%\) R \ 8. }; 5(h—1)?+5 _ = A decvokive
0 1 h—0 h evoluaked O
A) L Hospitals O 10 o Some Point
C) 2 Rule D)7 A) a B) £0)
E) nonexistent ©) D) ® ‘ ’F(ﬁ) ?
E) nonexistent Swhatris ’ .
— = Wnak s ¢
. poeoe FOO e ey
2 -~\)= -
4, lim x3 4+ 27 _ %()(3‘\’7,:} - 2 = 3(,‘3): 73 ,F‘OQ—\OX ; ) — lDC\\):"l )
r——-3 T + 3 x,\—?) | \ lm ('1: + ) B 81: — (
v e hgo h F(O=10¢
A) -3 B) 0 C) 9 D) 18 @27 +\l61>:~(6
A) 8 B) 8z
C) 16z D) 0
ARy VY the Conjugate E) nonexistent
5. .. 2 4+9— MUY oY 3 )
- lim =
z—0 x
A) B) _™ £y §0="3
10. .. —3(z+h)®+ 32°
C) 3 D) 0 . ;llli% ( h) _ 7%():’3%3
E nonex1stent ) — — Qo
) a A) 3x @—93:2 7[\6()‘ Ax
oo s (i +3) +3§ @uq) ] 0) 3 D) 0
istent
X ( m i 3> 2 mﬁ +2) E) nonexisten
o
T (AR A3
- X O
x> 7 @




AP Calc Practice Set 2

11y, 20(ath)® — 2002 _ Debininion of Decvokide
- h—0 h
A) 20 B) 20a e FOren) L0
@40@ D) 0 CX NS0 \~ <>
nonexistent Q C%\ — ZQ G

£6) o= HOa

12. lim cos(x + h) —cosx

— h—0 h
pE BT gy cos®)
E) nonexistent J(\(CY P 6\ QO (\K>

13. .. —10(33+h)2;£§><> ’FGQ‘

- | =

;_))0103: " @ —20x A\} CX\) ZOX

C) 0 D) ?
E) nonexistent
a2
o OO0 e
14.1i Y(;(m+h)2+bx+h /\ ax +b.’1)+c) X)“
- h—0 -
A) 2a/\+ ’ B) 27 +0 @ 2aw +b D) 0 E) nonexistent
\ 2
o) £69) R Feo) _ 69 _
15, R Ly 17. . |@+h?2+ (@ +h)- |22 +2)|&
A) 1 \ ~2 ‘23: +1 B) -z Tt
i Jr\ (F)=-1% 0) =* D) 0 G+ ()
B) o I B E) nonexistent PR=2H
©- 1 T K
1‘2
D)
18.

E) nonexistent

\ 422+ 3z —3
lim
Smﬁoo|5$2 + 1772 + 2 N L)

Pla)= Ao RO o 15 FG)' A s
16, [563+ Z)L_ 15 _ Whatr 15 &7 ® ;
. _ ) /V\a’rchmg +he highest expar\er\*
by ’ 1?62)’ 564> D2 L SPAS CX a=b
C) 0 D) =3 [(Hoxr E)éo Kb o 0eb o
1 ¢ b
E) nonexistent ;‘\ Cﬁ -5 X i M =0 )\g\@ _ _&.
KD00 ~ K00

TS
.



AP Calc Practice Set 2

19

20.

. For which pair of functions f(z) and g(z)

below, will the Tim £%) — o9
2720 9(T)s grow mudh
O = e D
)= O\NON i
—  Eeporarsied)
glz) =27 ° pordr” Xponential
B) f(x)=¢" Funckions grow
100 wichher an
g(x) =z olynowmials
C) flz) =2 +2x Exp! Plgnomids
g(z) = 22 a* e
D) f(:C) — el% X Xle
e
g(x) = In(z) e
E) f(z)=x
g(z) =In(z)
I 62242217 _
it 423 4 22 — 7&— Denominator
00 has lavger
A) exporant
B) 3 _®
2 o
C) !
D) 2
3
E)°
Inz O . ol
Jim = = gy LY
W (Bl o7 D B
x - L
A
\)‘(’;\‘b % ER o ®)
A) _4
5)
B) U
2
3
D) !
E)

)

23.

[OV)
8
©
|+
ot

& =
v8

N

V5

Z
<|%
X\%’Qp

]

X

\

o]
~
N | Ot

S\C

8

g

25.

S Becomes pigdee
> Bf-\'askf Chig\'\ef o*%@)

3D 2 > higec cagre
— X

26.

B) —2




AP Calc Practice Set 2

27.

— 28.

29.

— 30.

— 31.

y 322 + 1 3Xrl 3
zggo(g—x)sm) Q-x% ~ )

A)Q‘S C)l D)3 E)9

9—22,x<2 is

ar +b,x > 2
continuous and differentiable for all values of
z. Find gand b.

The function f(z) = {

A)a:—2,b:9 B)a:—5,b:15
C)azO,b:E) D)azS,sz
E) a=—-4,b=13
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true? NOT

L. f(c) exists Continuoys
I1. lim, . f(x) exists G
ML lim, .. f(2) = f(c)

A) 1 B) IIjan

C) 1II D) I3nd I

E) )L II, and 111 L S *\
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A) Yes, becauselim, s f(x) =
B) Yes, becauselim,_,,- f(x) = 3. -cc?)— —“\
C) Yes, becauselim,_,o+ f(z) = 3. \im
D) Yes, because f(2) = 4.

l -
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35. Base your answer to the following question on
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36. The function has a jump discontinuity at
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C)x=3

D) x=4

E) None of the above

37. Over which of the following intervals is the
function continuous?
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D) x=0

None of the above
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41. The above is a graph of /. Which of the
following statements is always false?
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E) has a vertical asymptote at z = 0
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45. If lim,_,»— f(z) = 2, lim,_,o+ f(z) = 2, and
f(2) is undefined. Which of the following
statements are true?

‘IAHQE—Q flz)=2
P

is continuous everywhere except at z = 2
. f has a removable discontinuity at 2 = 2

A) 1 limits are equal from
2adn Side
Tand 111 2
C) 111 3
D) L, 11, and III 2

E) None of the above ~ ™
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46. Which of the following statements is/are true
£(0) exists
IL. lim, o f(z) exists

I, I, and TII

III. f is continuous at z = 0
A) 1 B) II
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